
STD- VIII 
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II. 

Q.1) Fill in the blanks 

Date: -3/4/2024 

II 

GUARDIAN HIGH SCHO0L & JR. COLLEGE 

III. 
IV. 

SECOND SEMESTER EXAMINATION (2023- 2024) 

V. 

networks. 

Computer viruses are formed with pieces of 
In 

Q.2) Multiple Choice Questions: 

sites allow users to share ideas activities, events and interests within their individual 

function is used to find the average of numbers. 

COMPUTER 

b) Do nothing 

chart data is represented by a slice of the circular disk which looks like pizza. 
function returns current date. 

c) Run a virus scan 

d) Destroy the computer 

If you think your computer has a virus, a good first step in solving the problem would be to: 

a) Reformat the hard drive 

a) Overabundance of videos on you tube. 

b) Poor scores on quizzes. 

c) Computer runs very slowly. 

d) Excessive number of emails. 

data. 

Which of the following may be an indication has been infected by a virus or other malware? 

Marks- 40 

a) Write in cell A3, =SUM (C5:C70) 

b) Write in cell A3, =ADD 

Time- 2hrs. 

(5) 

c) Write in cell A3, C5+C6+C7+C8+C9 

I want to add cells value from C5:C70, and show output of this addition in cell A3. 

formula should I use? 

d) Write in cell A3, =add C5 TO C70 

(S) 

Which 



II. 

III. 

V. 

I. 

VI. 

IV. 

II. 
II. 
IV. 

a) Root ki 

Q.3) State whether the given statement is True or False 

V. 

Q.4) Who Am I: 

II. 

What is Virus? 

GIADnIA 

a) It is hardware 

L. 

1. 

e) It is a computer program 

program? 

h Computer viruses are programs which are written by programmers with malicious intent. 
Maximum function finds the lowest value from given set of values. 
-NETWORKDAYS) function counts the number of working days. 
A trojan horse virus travels as an attachnent to E-mail messages. 

Which ofthe following terms does not refer to a potentially harmful computer 

b) Hardware ) Adwure 

I am an unregistered user of the forum. 
I am the person who owns or runs a blog. 

Q.5) Name the Following: 

A computer virus, much like a flu view is designed to spread from, host to host and has the ability to 

replicate itself. 

I am a collection of posts, usually displayed from oldest to latest. 

Q.6) Answer the Following Questions (any 5) 

Any four types of charts. 

I can make forum-wide announcements, or change the appearance of a forun 

Any four Antivirus software. 

I can be useful for anyone doing business online, both in terms ofreading the content and actively 

participating in the discussions. 

Any two Biological Viruses. 

b) It is a system software 

Any four types of Bar Chart. 

d) It is a windows tool 

Any fou options available on Layout Tab. 

What is Social Networking ? 

d) Spyware 

What is Anti-Virus? 

What is Function Library? 
What is a Formula? 

(5) 

Write any four methods to protect your computer from virus? 

Write about Instagram? 

(5) 

(10) 

(10) 
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Date- 01/ 04/2024 

) Hd fafay 

HINDI iarks- Si 

Time-2hr 

(?) 

(2) 

(2) 



helGhR-afà quf-quf t 

(?) 

(2) 

(2) 



hellalR-G5fà quf-quf 

(?) 

(?) 

(?) 



i) Hgut 

i) efta 

ii ) areft4 -

(?) 

(*) 

(3) 

() 

(2) 

(2) 

(3) 

(3) 

(?) 

(?) 

(2) 



i) iR 

**********tt** 

(3) 

(3) 

(3) 

() 

(4) 

(3) 

(3) 
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GUARDIAN HIGH SCHCOL & JR. COLLICE 
1I SENIESTER EXAMINATION (2023-2024) 

Date- 02/04/2024 

Q1.Solve the following 

I. In the figure ,if I(PM) = 4 then I(P)= 

iI. The Euler fomula is 

III.If the radjus of the circle is 21l cm then the area of the circle is 

Mathemalics 

M 

V.The compound interest on 9000rs invested for 2 years at the rate of 10 p.c.p.a is 

V.We can express the correspondence between the vertices of any two triangles in 

different way.(sixinfinite) 

VII What is the mean of 1,2,3,4,5,6,7? 

a) Curved surface area 

VI Formn an equation ."Eleven less than four times a number is equal to five." 

b) Total surfacé, area 

I. 2p² x 3p'= 

Q2.Solve the following 

VIILIf the radius of cylinder of the base is 2.8cm and its height is 5.5 cm then find it's 

II. Divide -45 x² +-5 x' = 

Marks- 50 

Time-2 hr. 

IILa+24a -10a? + at4. Write quotient and remainder 

IM 

IM 

IM 

IM 

IM 

3M 

6M 

IM 

2M 

3M 



Q3.Solve the following questions i.Decide whether these valkes are solution of the given equation ií.Solve 5(1-2x)= 9(1-x) 
iii.Find x 

180+257+x 

i. 

X - 4 3,x-|,7 

i. 

Q4.Solve the following questions 

3 

ZPQR>L 

ZRPQ 

LPRQ» L 

A 

B 

= 230 

P 

B 

iii. Observe the figure and complete the given boxes 

D 

Q 

AADB ACDB by test 

R 

Be> 

SM 

2M 

IM 

TM 

IM 

3M 



Age ofstudents in years (x{) 

13 

14 

C'onpete the tabie 

Q5.Solve the following 

ii.a) Measure of complete circle is 
b)Measure of semicircle is 

Q6.SoBve the following (any 3) 

i. Find semi perimeter if in a triangle its sides are 60cm ,60 cm and 96cm 

P 

No of studeni freqicncy (G) 16 

ii. A principal amount to Rs 13924 in 2 years by compound interest at 18p.c.p.a . 
Find the principal 

56M 

12 

c).' diameter of a circle divides circle into two 

15 M 

N-T 

D 

R 

i. Radius ofa circle with centre is 25 cm.Find the distance of a chord from the centre if length of the chord is 48 cm. 

(360° /180°) 
(360° /180°) 

176 
120 
156 

28 

ii.Look at the measures shown in the adjacent figure and find the EPQRS 

(minor arcs /semicircle ) 

3M 

4M 

IM 

3M 

3M 

9M 

3M 

3M 



iiL.Complete the follow ing activity to solve the questions 
my length is 7cm more thän breadth 

let breadth be x cm ,my length is 

perimeter = 2( 

my perimeter is 114cm 

Solution: 

I am rectangle 

114 = 2 (X+7) + X 
length = 

iv..lengths of the diagonal of a rhombus are 15 cm and 24 cm Find its area Solution :Area of rhombus 

A= 

Time period ( N)= 

X d, x d, 

Rate of increase (R)=25 p.c.p.a. 

A-[ 

-320( 1 +) 2 

cm 

Number of workers at the start of work (P) =320. 

100 

Q7.On the construction work of a flyover bridge there were 320 workers initially. The number of workers were increased by 25 % every year. Find the number of workers after 2 years. 2M1 

125 125 
=320 

There will be 

X 

Number of Workers after 2 Years (A) =? 

100 

cm 

breadth = 

100 

(write formula ) 

Jom 

(substitute the value ) 

..*.Write the formulae 

workers after 2 years . 

3M 

3M 

xx 



Q8,Sotve the íuidom ing 
ilc he cenral algle of chord CD? 
nln a cirele with center P, chord AB is drawn of leng1h 23cn, seg PQ Lchord A}, 

then find QB). 

A 

To find: PM 
Seg PM 

L(AB)=e 

M 

l chord AB 

I(AM) = ½x 16.8cm=8.4cm 
In APMA, 2 PMA = 90° 

PA²=PM2+MA?. 
PM²=(9.1)² +(8.4)² 
PM²=12.25 
PM= 

iThe length ofa chord of a circle of l6.8cnn, radius is 9.lem. Find its distancc fron tlhc centre. (3M) 

B 

A 

Solution:I(AB) = 13em 
Sog PQChord Ais. 

D 

Distance of the chord from the centre is 

the circlc to the chord bisects the chord. (QB) 

We know that the perpendicular drawn from centre of 

Solution: 

= hx 13 

Given: 1) A circle with centre P. 

(Given) 

cm. 

iv. In the adjoining figure .Diameter AB and CD intersect at O 

IM 

2) seg PM chord AB, point M lies on seg AB 3) Radius = PÅ = 9.1cm 
4)AB= 

.perpendicular drawn from the centre biscct tho chord) 

2M 

)mention the reason 

a.Write the 2 pairs of congruent arcs ? 

b.State the major arc corresponding to minor arc AXC ? 

(2M) 
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Date- 28 /03/2023 

GUARDIAN HIGH SCHOOL & JR. COLLEGE SECOND SEMESTER EXAM (2023-2024) 

Q1.A. Rcad the following passage and answer the following questions: 

(d) lazy 

SECTION I: TEXTUAL PASSAGE 
Surgery dates back to as carly as 600 BC. 'Sushruta Samhita' is one of the oldest works 1 the word 
dealing with surgery. It indicates that Sushruta was probably the first surgcon to perfoTn sacai 
operations (plastic surgcry). Later, some ancient surgeons performed tooth cxtractisn and bloodletting.Major surgery could not devclop for centuries bccauc of lack of knowledue and techsoi 
The doctors had 1o cut opcn the part of the body that was not iealthy. remove it or set ript ttat oart Ih 
would involve a lot of pain to the paticnt. General anacsthetics like ether or cslorofonn, dsvciny 
from mid - nincteenth century making painless surgical operations possible and sucUeful Moer 
techniqucs arc uscd nowadays for anacsthesia. General anacsthesia benunb, the whole bo s) it wed 
1or surLerv of any region of the body. For local anacsthesia, local anacsthetic% are injected iti' ti 
spot Or an arca near nerves. 

1. Fill in the blanks with words from the extraet : 

(b) fresh 

English 

General anaesthetics has made painless surgery operations and 
2: Which is one of the oldest books dealing with surgery ? What does general anaesthesia do to whole body ? 

(a) disturbed 

4: Pick out the words from the extract that mean the following: a) Total dramatic change 

(c) occupied 

b) Draining out blood 
Z Sushruta was probably the first surgean .(Adda question tag) 6, Why did doctors begin to use anaesthesia ? 

and 

B. Rëad the following passage and answer the following questions: 

, In the early morning, the mind is.. 
1. Choose the correct alternative to complete the sentence : 

SECTION II: NON-TEXTUAL PASSAGE 

Getting up carly gives many benefits. It gives good start. In the early morning, the mind is fresh. There are few disturbances. So the work done at that time is generally well done. The early riser also finds time to take some exercise in the fresh morning air. This exercise supplies him with a fund of energy. It will last until the evening. By beginning so early, he knows that he has plenty of time to do all the works in time. All his works are finished in good time. He has a long interval of rest in the evening before he goes to bed. 

Marks- 50 

2. What does an early riser get in the morning? 

Time- 2 hrs. 

at2).a 

(08) 

a) Ancients surgeons performcd 



S When do we get our mind fresh ? 
6 Find from the passage the vword which means : advantages. 

He h¡s a long interval. (Add a queation tag) 
8, Give an antonym of 

If the lion's caught a cold, 
If the zebra's getting old, 

Q2.A Read the extract carefully and do the activities : 

If the hippo's feeling ill, 
If the centipede has trouble with his feet, 
If the bison's got a chill, 

If som� virulent disease 
If the Arctic fox is suffering from heat, 
Has attacked the chimpanzees, 
If the bear's too full of buns, 
If the tortoise hasn't stirred for several years, 

If the cobra eats her sons, 

(a) finish 

And their necks are feeling stiff 

If the panther has a wife who chews his ears; 
If giraffes have hada tiff 

SECTION II: POETRY 

If the monkey's pinched his tail, 
If hyenas will not laugh at keepers' jokes, 

If the rhino's looking pale, 
If the elephant eats paper-bags and 
chokes, 

(b) early 

2. Why is it so difficult to be a successful vet ? 

. Give the rhyming words in the first two verses 

If the camel hurts his hump, 

Q4. Name and explain the figure of speech : 

If the kangaroo won't jump, If the crocodile turns cannibal and bites, 
They run away and get 
Th¡t omniscient, the vet 
And expect him to put everything to rights. 
Profoundly I pity the vet, who must learn 
Such a very great deal for his pay; 

My son, I advise you most strongly to earm 
Your living an easier way. 
Don't attempt to attend the zoological 
crowd; 
a far more advisable plan 

1.State whether the following statements are true or false. 

Is to call yorself Doctor, and so be 
allowed 

(a) The poet calls the vet omniscient because he has to know everything about insects. 
b) The lion catches worm. 

To treat the illnesses of man. 
Guy Boas 

(a) 0f the tortoisd hasn't stirred for several years. 

B. Read the extract carefully and do the activities : 

So work the honey- bees, creatures that by a rule in 

nature teach.The art of order to a peopled kingdom, 
They have a king and officers of sorts; 
Where some, like magistrates, correct at home; 

Others, like merchants, venture trade abroad; 
Others, like soldiers, armed in their stings; 
Make boot upon the summers velvet buds; 

Which pillage they with merry march bring home 
To the tent royal of their emperor ; 

(05) 

(06) 



|Who, busied in lis magesty, surveys, 
Ihe singng masons building roofs of gold. 
The civil citizens kneading up the hney. 
The poor mechanic porters crowding in 
Their heavy burdens at his narrowgate, 
The sad eyed Justice, vith his surly hum, 
Delivering over to exccutors pale 
The lazy yawning drone 

1.Complete the following choosing appropriate options : 

(a) 
(b) 
(c) 

6. 

(a) 
(b) 
(c) 

The drone is given a decath sentence because he 
killed the bees 
attacked the cmperor 
does not do any vork 

The soier- becs carry home 
velvet buds 
nector looted from flowcrs 

their weapons 

) What do honey bees teach us ? 

3. Read the above poem. Write an appreçiation of the poem in about 12 to 15sentences with the help 

of the following points. 
Points :itle , poet,theme /central idea, Rhyme scheme ,figures of speech ,special features ,favourite lines 

and why:I like /di_like the poem. 

Q3. Do as directed : 

Wiliam Shakespeare 

Iwent to hospital to see Sam yesterday. ( Rewrite the sentence by filling in 

the blank with the correct articles) 

the minister said Elections will be held in MP bihar and Orissa (Rewrite the following sentences 

using correct punctuation marks ) 

Letter writing 

SECTION IV -GRAMMAR 

4. Rohan lostthe wallet. ( Change the voice ) 

She makes dresses in her free timne. (Frame a WH question to get the underlined part as the 

answer.) 

a) Lead the heaviest metal 

John said; I am very busy now.' ( Convert the given sentence into Indirect Speech) 

Explain the meanings of the homographs given in the following sentence. 

b) Ram was in the lead role. 

(a) neighbour 

Add suitable suffix to the root word to form a new word: 

(08) 

(b) friend 

SECTION V: WRITING SKILLS 

Q1.A.Write a letter to your friend about the importance of learning Engish. 
-OR 



B. Writea letter to the librarian requesting her to issue you duplicate card as you have lost the original one. 

B. lntormation Transfer: 

Transf¢r the information about the Water-cycle given in the flow chart into a paragraph: 

Sunrays absorb 
water trom sea, 

streams and rivers. 

Falls on Earth as 
rain. 

Water vapour rises. 

Becomes too heavy 
to hold water. 

I*m *re a part of growing up (05 ) 

OR 

The higher it 
goes the coolerít 

becomes 

Q3. A. Write a diaBogue between two friends discussing about 'reading books' is a better use of tine than 'watching television and mobile ' during vacations. 

.. 

Condensecd into 
clouds. 

B. Develop a short story- within 100 words- fron the given outline- Suggest a suitable title gf the 
story- Write the moral of the story 

Son falls into bad company.. disobeys his parents loses interest in studies 
decidea to bring the son back to the right path ... gives him a few apples 
among the good ones after a few days the good apples also become rotten 
that one rotten apple spoils all the apples 

(05) 

father 

.. places a rotten apple 
son understands 

gets transformed. tries to mend his ways 
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SECOND SEMESTER EXAMINATION (2023- 2024) 

Date: - 30 /03/2024 

i. _fFYdald UfT -

MARATHI Marks- 50 

Time- 2 hrs. 

(a) 

R) 

(3) 



ii. 

AET: 

3HHIT 318. T JT ? 

) 

(6) 



i. for 

TUT HT fRhqt ! 

31 

31T 

(?) 

(8) 

(E) 

(2) 

(R) 



(3) 

(9) 

(9) 

(8) 

) 

(?) 

() 

(9) 



i. 

T. 3R fI. 

ii. 

ii. 

i .3T90T RIEUlI T furct 31la ? 

(3) 

(9 

() 

() 

(2) 

(2) 
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